Defence and Strategic Studies
Paper 1I

|Efleh 379
gyuIeht 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : A1 TRAAehd TR TR (50) SgUERE R fooiel Rd. U el g ()

0 . W Y gredl.

1. Strategic studies is essentially : 1. WHRe e S 7 eAd: T

WEIET AR
(A) State centric

T

(A) TZ-TT hisd

(B) People centric B) & S
(C) Civil society centric (C) I Tu SfEa
(D) Military centric (D) T higa

2. A nation-state must have the | 2. ¢ TSN Teflcd ek THU SwTH
following characteristics : AR :
(i) Sovereignty () wEdHE
(ii) Territory (i) Fa
(ii) Population (iii) <
(iv) Cultural homogeneity (v) Wipd® T
(A) Only (i) and (ii) are correct (A) & (i) M (i) SR 3Tea
(B) Only (i), (i) and (iii) are correct (B) haed (i), (ii) A (3i7) SR A&
(C) Only (i), (ii) and (iv) are correct (C) e (i), (i7) 3O (jv) SR SR
(D) All four are correct (D) =d ¥6 ¥R s 3RA
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The concept of Human Security is
closely associated with :

(A) On declaration of Human
Rights

(B) UNESCO
(C) UNHCR
(D) Human Development Index

Match the following and select the
correct answer from the codes given

et GREM & ke et e
AR :

(A) FIF TSI A SATIRR Sl
(B) UNESCO
(C) UNHCR

(D) °Fa faerm fsmen

S el S s’eR IW et RIS
ferer -

below :
Non-Aligned Main Issues
Summits Discussed

(@) Algiers (1973)

() Colombo (1976)

(¢) Havanna (1979)

(d) Harare (1986)
(e) Jakarta (1992)

Codes :

(A) (a)-(3),
(e)-(5)

(B) (a)-(5),
(e)-(4)

(©) (a)-(5),
(e)-(2)

D) (a)-(4),
(e)-(5)

(1) Indian Ocean
Zone of Peace

(2) Relevance of

non-alignment
in post-cold war
era

(3) Creation of
Africa fund

(4) Question about
“natural Alloy”

(5) Concept of
NIEO

(b)-(4), ()-(1), (d)-(2),

(6)-(1), ()-(2), (d)-(3),

(6)-(1), (c)-(4), (d)-(3),

(6)-(3), ()-(1), (d)-(2),

ifeudaraTdr s
frer |waem

(@) ST (1973)

(b) HIE (1976)

(¢) =AMl (1979)

(d) T (1986)

(e) STehIdl (1992)
35'3 :

wfefer frerer
e Uee

(1 & weErR
TN &

(2) Md SR hrad
SAfeTarae™ qed

(3) STHIHT HeTH
fafefdt

(0 ‘‘qgfis fag’ @
Hhed

(5) NIEO < Hehodl

(A) (a)-(3), (0)-(4), (©)-(1), (d)-(2),

(e)-(5)

(B) (a)-(5), (6)-(1), (©)-(2), (d)-(3),

(e)-(4)

(©) (a)-(5), ()-(1), (c)-(4), (d)-(3),

(e)-(2)

(D) (a)-(4), (6)-(3), (0)-(1), (d)-(2),

(e)-(5)
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Mackinder’s concept of Heartland

countered the view of :

(A) Liddell Hart’s concept of ‘web

defence’

(B) Jomini’s concept of lives of

operation
(C) Fuller’s funnell concept

(D) Mahan’s concept of sea

power

For advancing effective civil
military relations in India the
need of one of these is becoming

essential :
(A) National Security Advisor
(B) Chief of Defence Staff

(C) Chairman Chiefs of Staff

Committee

(D) Natural Security Advisory

Board

5.

FEB — 16213/IT
Hfehretan wdyfh fagra =n foemr=n
foes wfafsear oM 2 -

(A) faga = ==t ‘o« feh=m’ =i

HheTT

(B) J@a ==

HhoTT

‘grata wET @

(C) R A= ‘Hed’ = Hehod
(D) HeM @ W wrHeAtdl

HhHeT

ARAT TSR-ATR FoY GURoATER

=l TRST SoTed

(A) TS T Feell

(B) TgH TN TAN YE

(C) Aem&], T 7eqe] T

(D) TS G el R Hed

[P.T.O.
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The role of civil defence is performed

by :

(A) NCC

(B) Bharat Scouts and Guides
(C) Home Gaurds

(D) Police

Difference is the theory that :

(A) Peace and security can be

promoted by threatening

potential enemies with
unacceptable retaliatory
damage

(B) Peace and security can be
achieved by reducing and a

abolishing nuclear weapon

(C) Peace and security can be
realised by controlling and
limiting the amount of military

force used

(D) Peace and security can be
promoted by developing
techniques for handling

international crisis

7.

TR GO S € R

(A) NCC

(B) YRd @hieHed 9 TEeH
(C) B e

(D) dreft|

EREEICIINEEA T

(A) wiadl 9 {L& gefud  shIuarEret

GUTe SB[ TR0 Hfdgearena |HR

S 1 | 1 S L O | g R e 1 A R B A

e

(B) a7fUaer IR hul 30 T2 e

Tl o GRa gEfid o

(C) TSRl sir=A1 arqer =07 =eA,
TGl SO a9 & gefud
EXu|

(D) ST TS SIATATITAT TG

forehT®l & Tl o Y& geefud
Cxu|
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10.

11.

The concept of air battleship was

conceived by :
(A) Mitchel
(B) Douhet
(C) Mahan
(D) Vauban

Who amongst the following had
stated direct relationship between

war and policy :
(A) J.F.C. Fuller
(B) Jomini

(C) Clausewitz
(D) Fredrick
Limited war :

(A) is a substitute for massive

retaliation

(B) Seeks to inflict losses on the
enemy out of proportion to the

objectives under dispute

(C) Calls for unconditional
surrender

(D) Seeks to combine maximum
destructiveness of nuclear
weapon with minimum
risk

10.

11.

FEB — 16213/11
‘Air Battleship’ & H&heqdr AT

aed :

(A) o

(B) =7¢

(C) HeM

(D) dfed

I3 T 0T A=A Ieael Heeared
It foa=m sal R
(A) S.THRH. R
(B) At

(C) Fraafaed

(D) Wigsh

waifed 4§ :

(A) T SoRcE YoIEd &1 o O 9
15

(B) aET=N YA 3fqesal = Heurd

e SERahd Gl S Jeohdr

HOAE TI hol

(C) forerd IROPT=N AFTO HY0r

(D) 3TfUaes IREMET O e hidd

HH ST Tk Sdd SR 19T

A FI hol

[P.T.O.
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12.

13.

The conference on disarmament :

(1) 1is not an organ of the United
Nations

(1) is a multilateral arms control
negotiating mechanism

(zii) adopts its decisions by

consensus
(tv) is located at Geneva

(A) Only (i) is correct

(B) Only (i) and (iv) are correct
(C) Only (i1), (i17) and (iv) are correct
(D) All the four are correct

Features of ‘Strategic Partnership’ :

(z) Understanding between two
countries in politico-security
areas without a formal military
alliance

(z1) The partnership would not
be of a supplier-recipient
relationship

(zii) There is no identification an
“enemy” against whom the
partnership is established

(iv)

Provides for a flexibility in
pursuit of national interest

(A) Only (i) and (i7) are correct
(B) Only (i), (i) and (iv) are correct
(C) Only (i1), (i) and (iv) are correct
(D) All the four are correct

12.

13.

[ERULZETUMCIEE

() HEH TR AR

(i) AT RO HIOATEIS
A 3TF TSI LA 3T

(i) WrEmdr SER o Sard

(v) ST 39 3R

(A) %o (i) & U e

(B) Had (i) 9 (jv) s AR

(C) e (i), (ii1) M (jv) SR e

(D) ¥d ¥R SRR Ted

“gfte aiferd’’ =t afyrsew &
R

(i) AT TSR Tl JTaX 1 il
T TS AShg YREATIoIh

Tl O

(i) T HeHhH TUM-CUM 3T &=
TR AR 9

(i) & WRRRT A ‘e’ WA
HIUTATE! TG Sq ATl

(iv) TSgfedre=n 96 qLad
Aafaehar gt

(A) & () 9 (i) IR 3TRd

(B) e (i), (ii) o (iv) SR 3T
(C) e (i), (i1i) I (jv) R ARd
(D) ¥d IR SR 3T

ch{dlHl
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14. The European Union was based

on :

(1) Idealist commitment to

internationalism
(i1) Belief 1in international

organizations moral authority
(zi1)) Functionalist road to unity

(lv) Acceptance of national

sovereignty as the key to

cooperation
(A) Only (i) and (if) are correct
(B) Only (i) and (iit) are correct
(C) Only (2), (1) and (iii) are correct
(D) Only (i7), (iiz) and (iv) are correct

15. There may be considered as agencies

that seek global economic

governance :
(A) IMF, World Bank, WTO
(B) IMF, UNCTAD, World Bank

(C) European Union, NAFTA,
ASEAN, APEC

D) G-8, G-20, G-77

14. JUUET gHET & A9 3R

15.

FEB — 16213/I1

(i) ST oM I B
IEEERCEE]

(i) ST GereAr=n Afdeh Tfehrier
IELEIE]

(iii) Tem=n rferdl 9nt

(fv) TEHET ISl I Gra HHceT=1

GehoUal |

(A) & (i) 9 (i) IR 3ARA
(B) & (i) & (i) s A=A
(C) ot (i), (i) & (iii) S AR
(D) =wad (i), (@ii) 9 (v) SRR 3R

R GEeAT SFfdeh 2Afefeh I Saaeiet
Heferd R

(A) IMF, “Fifass s, WTO

(B) IMF, UNCTAD Srifas e

(C) JUYrH I, NAFTA, ASEAN,

APEC

D) G-8, G-20, G-77

[P.T.O.
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16.

17.

18.

Zionism refers to :
(A) Arab-Islamic Nationalism
(B) Jihad

(C) Policies of the Ottoman Turkish
empire
(D) Jewish Nationalism

The CTBT was an effort to prevent
the spread of :

(A) Nuclear weapons
(B) Biological weapons
(C) Space technology
(D) Chemical weapons
Industrial

Military Complex

represent a symbiotic relationship

between :

(A) Political leaders, military

establishment and industry

(B) Political leaders, bureaucracy

and industry

(C) Military establishment and the
political leadership

(D) Military establishment and

industry

16. SAE WIS :

17.

(A) 3RE TEAHE TSLAR
(B) =
(C) AT qoh HEISAT R0

(D) S7-TgaE

CTBT ® &= T9R JQUIEE el el
AR

(A) aArfuesh I
(B) Sfesr 30
(C) SThTYT TR

(D) TEEITeh I

18. &R Sl ¥HE T o whd

Teh[oh{0 MG A :

(A) USehT Ad, ISRy Sgaedl i

e

(B) UST&hid Ad, Alsh@mer  ATfor
I

(C) TR qfor USThig

g
(D) TShy SAIET (0T &M

A
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19. Churchill’s “iron curtain” speech

S a

qlcdlcl Heql

X

19. =¥ I " g 9O '

referred to :

. .. qred B
(A) The Communist revolution in

China
(A) =9 ALia R Sidl

(B) The Bolshevic revolution in

(B) M sicsifegsh shidh

Russia

(C) The East-West division of
(C) JUu= qa-ufe=ad faursH

Europe
(D) The bombing of Hiroshima (D) fedeftareiic sfe ®
20. Unification of Germany represent a | 20. SHR  ThHihU o BIGED
success of : R
(A) Fundamentalism (A) HAdEd
(B) Nazism (B) -TEharg
(C) Nationalism (C) Tsgar|
(D) Separatism (D) HfeER

9 [P.T.O.
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21. Place the following Soviet leaders in

22.

a chronological order :

(1)
(2)
(3)
(4)
(5)
(A)
(B)
©)
(D)

Khrushchev
Brezhnev
Gorbachev

Stalin

Andropov

4), (1), (2), (5), (3)
(1), (4), (3), (5), (2)
4), (1), (2), (5), (3)
(1), (2), (4), (5), (3)

Which of the following statement
about China are correct ?

(A)

(B)

(©)

(D)

China is not a member of the
NPT but has accepted the no
first use policy

China is a member of the NPT
since 1968 and has supported
actions against Iran and North
Korea

China became a member of the
NPT in 1992 and is a supporter
of the no first use policy

China became a member of the
NPT in 1992 and continuous to
opposite the no first use
policy

21. Eed Hifgqd A HIAHHATTER

22.

ISR

(1)
(2)
(3)
(4)
(5)
(A)
(B)
©)
(D)

EAEES

EERLY

RIEIEY

e

R

4), (1), (2), (6), (3)
(1), (4), (3), (5), (2)
4), (1), (2), (6), (3)
(D), (2), (4), (6), (3)

=4
CEIES
(A)

(B)

(©)

(D)

dTed  ETefiel shivld faem s
2

9 & NPT 9 958 U TR 9
T 9UH Boodl 7 HL0AT dcd HI
ol IR

=M @ NPT 9 1968 WA W&
AR 9 AN U F I R

foeg=a wRaEar difesn foam

= NPT =1 1992 A&3 TS Al
9 YUY Booll T HITATAT 0=
ifgsn foem o

= NPT =1 1992 A&l TS Sl

ST T F9H Booll F IO
e foliy shen TR
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23. In the United Nations system the

FEB — 16213/I1

23. GgF USIME Al 9 GR&T qE0ar
primary role of maintaining peace )
AR wE A R
and security rests with the :
(A) Permanent members of the (A) gram Hfedre FEm w5
Security Council B) e T
(B) Security Council
(C) M\ g
(C) General Assembly
(D) Secretary General (D) We
24. The largest ethnic group in | 24. ST® e He wafd et st e
Afghanistan is : T AR
(A) Pashtun (A) IRq
(B) Tajik (B) difSen
(C) Hazara (C) T
(D) Uzbek (D) SFEh
25. Kyoto Protocol calls for the reduction | 25. T®31a gigisdie ‘' Uerew 78"’
of greenhouse gas emission by 2012 U9 AFAT THIONG HH HL0ATd
................ by 2012 fad
(A) 15% (A) 15%
(B) 10% (B) 10%
(C) 5% (C) 5%
D) 7.5% D) 7.5%
11 [P.T.O.
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26. McMahon line was finalised in : 26. HehHIET M 3Y TR <hell el :
(A) Simla Agreement, 1914 (A) Tormen @weiar (1914)
(B) Panchsheel Agreement, 1954 (B) deRitel HHEaT (1954)
(C) India-China Agreement, 1949 (C) WRA-I HHEI (1949)
(D) Shimla Agreement, 1971 (D) ferem wwein (1971)
27. Tahrir Square that came in the news | 27- 2010 T T& =R el e -
in 2010 is in : weY T A Sl
(A) Tunisia (A) ZFrriren
(B) Lybia (B) ferm
(C) Egypt (C) =
(D) Yemen (D)
28. CIS emerged after : 28. CIS =it ffHdt 39 weft -
(A) End of British colonialisation (A) fofew T SEH®
(B) Dissolution of Warsaw Pact s ..
(B) SIRT h{=AT HHTCAN
(C) Disintegration of Yogoslavia
(C) Frreertegare fasedmam
(D) Disintegration of the Soviet
Union (D) Gifsgwd iy faseaHd
12
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FEB — 16213/I1

29. “String of Pearls” refers to a strategy | 29. ‘‘f&7 it geiq’ 2 T @I STt
designed by : AR :
(A) India (A) ¥rd
(B) China (B)
(C) Pakistan (C) e
(D) United States (D) SHIRHT
30. Supply chain is a link between : 30. TSl WEEl ¥ oW STANS WIS
AR :
(A) Natural resources and
consumption of material by men (A) TEfiie EA-F o WEAD IS
in the theatre of war TR T hefedl =T
(B) Natural resources and industry (B) “rfifs Her-Howt S Sem
(C) Industry and market (C) SEM & ARG
(D) Market goods and consumers (D) SISRESH A1 9 e
31. What was the main mode of | 31. 1962 =a1 WRA-=H JT=AT ST
transportation in forward areas TeTER T T 3 A
during the India-China War of
1962 ? (A) TN 9
(A) Road B) T A
(B) Rail
(C) BT aEdh
(C) Air transport
(D) Waterways (D) STeHr
13 [P.T.O.
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32. Sri Lankan conflict can be | 32. #icihdid @@ & USRS HHAA
considered as : S
(A) Popular uprising (A) SHdEl 323G
(B) Religious conflict (B) enfHsr 3@
(C) Ethnic conflict (C) aif3rer 3aE
(D) Social conflict (D) 9IS 33d
33. International conflict after | 33 1991 = eiqRAdia Herd WHEAM =eR

1991 have been mainly based i e -
on :

() TSI gA ST
(1) State restructuring

(i) <R T3
(z1) Ethnic unrest

HARERE=IETY
(zi1) Disarmament
: . (iv) e e
(v) Religious resurgence
(A) Only (i) and (i1) are correct (&) @ = G) g
(B) Only (i), (i) and (iv) are correct (B) ®d (1), (i) T (fv) SR e
(C) Only (i) and (iv) are correct (C) &ad () 9 (jv) IS AR
(D) All the four are correct (D) F& 9R s 37ed

14
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34. Kenneth Waltz classifies the

35.

major sources of war as arising

from :
() Human nature

(i1) Internal structure of states
(i1i) International Anarchy

(A) Only (i) is correct

(B) Only (i) and (if) are correct
(C) Only (iii) is correct

(D) All the three are correct

What do you understand by

‘Positive Peak’ ?
(1) Absence of war

(i1) Absence of violence

(i11) Absence of direct violence
(tv) Absence of indirect violence
(A) Only (i) and (if) are correct
(B) Only (i) and (iii) are correct

(C) Only (iii) and (iv) are correct

(D) Only (i7), (iiz) and (iv) are correct

FEB — 16213/I1

34. &Y dfeH A=A Td G JH WH

35.

Ted

() WHH W@

(i) TS M T

(ii) STAWEA TSRl

(A) o (i) S 3TTed

(B) wee1 (i) T (ii) SRR 3T&d
(C) oA (ifi) SRISR A&

(D) & T =R 3Ted

¢

‘gHRIcAS A’ BN S ?
() I A
(i) Te&=n st

(i) g &&= a1vme

(iv) A9cay f&q=n A9

(A) A (i) 9 (i) &R 3T

(B) el (i1) I (iii) S&X TR

(C) = (iii) 9 (fv) TR 3T
(D) e (i), (iii) @ (jv) ST 3T

15

[P.T.O.
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36. ‘Post-conflict peace building action’ | 36. TESFMR A= AL & GheudT AT
was a concept spelt out by : et :
(A) U. Thant (A) g 9
(B) Boutrous Boutrous Ghali (B) o;];;\lH g;\lH STl
(C) Dag Hammerskjold (C) S TOWiee
(D) Kofi Annan (D) BT 3T
37. The following organisation enjoys | g7 5T ST Wleliel Heeell deed Hiel
neutrality in war : SICER
(A) Amnesty International (A) STATE SeHeFA
(B) UNHRC (B) UNHRC
(C) Red Cross Society (C) & #9 Fg™e
(D) Green Peace (D) W4 99
38. India-Pakistan peace initiatives are | 38 yRg-UIfreaE TR 9dr geenfug
based on : H{0ATE YRR e ST 3TRd .
(A) Geographic mapping (A) Hriifers SeREm sHfaor
(B) Military exercises (B) TSR hamdl
(C) Deterrence (C) WiEA
(D) CBM (D) CBM
16
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39.

40.

41.

(a) Kant

(b) Morgenthau

(¢) Kaplan
(d) Hedley Bull

Lahore Declaration (1999) was
signed between :

(A) Afghanistan—Pakistan
(B) India—Pakistan
(C) Bangladesh—Pakistan
(D) China—Pakistan

Countries defined as hearing
threshold power relate to what
amongst the following :

(A) Food security

(B) Industrial capability

(C) Nuclear weapons capacity
(D) Big power status

Match the following and select the
correct option from the codes given
below :

(D
(2)

Systems theory

International
society

(3) Realism
(4)

()

Liberalism
International

Political Economy

Codes :

(A) (a)-(4), (B)-(3), (c)-(1), (d)-(2)
(B) (a)-(5), (b)-(1), (c)-(2), (d)-(3)
(C) (a)-(3), (b)-(4), (c)-(5), (d)-(1)
(D) (a)-(2), (B)-(1), (c)-(4), (d)-(5)

39.

40.

FER — 16213/TIT
ATRR ST (1999) T4 ST hedl

e
(A) STHRIMRTH—UTfh &
(B) vRd—Trfehsa™

(C) TTARI—YTfeh&T

(D) =HA—dTfeREM

R U B BT R | R B AR R - Dl
TG STl Al 98 FAT = HeHid ara’e
511

(A) 3T gIan

(B) STrEifie awa

(C) onfoeeh TS &l
(D) o€t T WUH A

41. Sren @men offu 3Ifaa waE @t
feciean sreqa feen .
(a) ST 1) e faga
(b) HIER 2) ST THS
(c) hT=ATH (3) dddlg
(@) TSl g 4) ISRHEAAR
(5) STAWSE TSI
STdHR
HS :

(A) (@)-(4), (6)-(3), (e)-(1), (d)-(2)
(B) (@)-(5), (6)-(1), (¢)-(2), (d)-(3)
(C) (@)-(3), (6)-(4), (e)-(5), (d)-(1)
(D) (@)-(2), (6)-(1), (¢)-(4), (d)-(5)

17

[P.T.O.
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42.

43.

Read the following statements
regarding development in science
and technology and their application
in war. Which of the statements is

not correct ?

(A) Whitney manufactured the first
mass production markets in the

US in 1798

(B) The “Turtle” was used in the
American Civil war by Sergant

Lee to go down the Hudson river

(C) Fulton’s wood and iron clad

submarine was called Nautilus

(D) American civil war saw the first

use of Zepplin, the air baloon
Ricardo argued that :

(A) Wars should be financed by

loans

(B) Wars result in loss of human

capital

(C) War helped to check population

growth

(D) Wars should be financed by

taxes alone

42.

43.

FEB — 16213/1

I 9 FAAETE T 9 & e
INEE & Sedia etel faum feeft
3. WIeAlardeh! v faum sl
&

(A) 1778 \&d 3TRehd fgeHt ot ggw=

2N

HiGT GHIUTG Sigehl™ Scaed g%
EX|

(B) BSHA ToIN SUAEET Fsie ol IAMT

SR TR ggma ‘e’ = AW

el

(C) Heted I dlehs d didlg aTa&s

Afeed  ATaTEn

el

(D) R A JgId il Areren
TR HM YAY IR el

I< € WIS SR :

qoTel  dAR

o ~

[Xehlsl

(A) IS ©E &l ST HAAl

(B) g§M HMHl HEA-HUi=n <8

=l

(C) g5 drhdEd=l deer fasm

d

(D) IS TE T Had HUA ER

EREI]
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44. Read the following statements
about offensive and defensive
technologies :

(1) Few technologies are purely
offensive or purely defensive
(1i) The relationship between
offence and defence is complex,
what is defensive can be used
in an offence way or vice versa
(zii) Most weapons are built to
implement tactics

44. 3hH% 9 FHICEHh Ci>|$1|"|l CIcrC|

FEB — 16213/I1

fau™ amn
()

HTE TAAE © hadd SAThHS fohdl
SeaTcHe: ST

AR F F=91d Il e foerse
TG, S STeeTcHeh 378 o SAThh

U 37 Ihd fohdl 1 3ae 901 B
KEX

(i) YOI =T SAASASATITS AGATY
v fAfia seft Sira

(i)

(A) Only (@) is correct (A) FFT (i) TR e
(B) Only (i) and (ii) are correct (B) e (i) o (i) SIS 3&d
(C) Only (iii) is correct (C) I (jii) IR 3>
(D) All the three are correct (D) §d I SeR 3Rd
45. The stealth aircraft is an example | 45 wey faummEr foe 1 Seufd @9
of development in : Iar -
(A) Nuclear Technology (A) 3Tfiaer d5=H
(B) Materials Technology (B) Hifqes o™
(C) Biotechnology (C) Sfas o5
(D) Information Technology (D) §g=A T
46. Dhruv is India’s indigenously | 46. ‘g&’ ¥ 9Ram fowfad st .
developed : N -
eveiope (A) BT @S fadam 1"
(A) Light Combat Aircraft .
s (B) 9 Rfetshie 31
(B) Advance Helicopter -
(C) TEE Ueardrd U 3118
(C) Short Range Missile
(D) HeAH Uootdrd &UITE 38
(D) Medium Range Missile
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47. “Arihant” refers to India’s 47 ‘ufE T uRas fowtad Soe -
indigenously developed : .
(A) TS @S TIamH
(A) Light Combact Aircraft
B TOMTTET
(B) Main Battle Tank (B) g&A R e
(C) Nuclear powered submarine (C) 3fUereh SYHTER STV ATUEE! 3T
(D) Communication satellite (D) TEER SWE 37
48. ‘Strategic Command’ in India refers | 48 YRArdTe ‘gERke wATS’ 'oHewHd
to e -
(A) Command and control of (A) aTfvas Yo fEeE 9 B
nuclear weapons
B I ‘A’ I . o). )
(B) dr;(;lrllzsn ndian Ocean maritime B) P
1
(C) Aerospace power (C) Tk WY e
(D) Army’s Northern Command (D) TH{H T HHS
49. SAPTA deals with the following | 49. SAPTA W& ® faw @mwwen S :
issue : A) S
(A) Political B) T
(B) Cultural ©
(C) Trade .
(D) T
(D) Technology ’
50. RMA @ Heuid 1% :
50. RMA refers to :
A) nfvgesh dIFEET aTH
(A) use of nuclear technology &)
(B) use of conventional technology (B) TRHIRE  THAAET ST
(C) use of technology in warfare (C) g&Td dAJEET ST
(D) use of biological weapons ) SIECAGERIEICINC K
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ROUGH WORK
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ROUGH WORK
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